	1.   Find the vertex, zeros and 

             graph the quadratic function.
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	2.   Complete the square to find the vertex, zeros and y-intercept.
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	3. Write an equation in vertex form for the parabola with a vertex of 
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 and going through the point 
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	4.  Find the roots of the parabola 


[image: image7.wmf]2

1

()(1)3

2

fxx

=+-

.

	5. Find the vertex of the parabola, and write in vertex form:


[image: image8.wmf]2

()3123

fxxx

=-+-


	6. Write a possible equation for in factored form.
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	7. Write a possible equation for in factored form, and give the degree and # relative extrema.
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	8.    Sketch a possible graph:
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	9. Sketch a possible graph:
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	10.   Factor Completely:
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Why is the # of extrema greater than the # real roots?  Why is the # of extrema equal to the # real roots?
	12. 
[image: image15.emf]-8-7-6-5-4-3-2-1 12345678

x

y

Why is the # of extrema greater than the # real roots? Why is the # of extrema equal to the # real roots?

	13. Factor Completely:
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	14. Factor Completely:
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	15. Sketch a Possible graph (non-calculator)
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	16. Write a possible equation (factored form), then sketch a graph of a negative 8th degree polynomial with roots of -3 (multiplicity 2) , 4 (multiplicity 3)  and  0 .
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Max # roots: ________; 

Max # relative extrema: ____________; 

end behavior: _________
	18. Write a possible equation (factored form), then sketch a graph of a positive 5th  degree polynomial with exactly 1 positive zero less than 5 (multiplicity 2) and one negative zero with a triple multiplicity greater than -4.


Station 1 Make 8 copies, place in the front of the room.  

Partners are to take 1 card at a time, answer question, check answer and REPEAT, until all cards are complet.

SHOW work on ANSWER SHEET.

Station 1  Parabola, Polynomials, Factoring
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Station 2     Use a GRAPHING CALCULATOR          Name________________________
	1. Is x+1 a factor of 
[image: image20.wmf]3

257

xx

++

, explain why or why not.


	2. Is 
[image: image21.wmf]23

-

 a root of 
[image: image22.wmf]32

7133

xxx

-+-

, explain why or why not.


	3. Is 
[image: image23.wmf]13

i

-

 a root of 
[image: image24.wmf]32

2240

xxx

+++

, explain why or why not.




Station 2     Use a GRAPHING CALCULATOR          Name________________________

	1. Is x+1 a factor of 
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	What is the SMALLEST DEGREE polynomial with the given roots. Write the conjugates, if any.
	PRR- Possible Rational Roots. Cross out the roots that CANNOT be a root of the polynomial.
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	What is the SMALLEST DEGREE polynomial with the given roots. Write the conjugates, if any.
	PRR- Possible Rational Roots. Cross out the roots that CANNOT be a root of the polynomial.
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STATION 3  Test 4.1 Polynomials

                      Name ___________________ Per_____
Find ALL ROOTS. Give exact values and show all work.
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STATION 3  Test 4.1 Polynomials

                      Name ___________________ Per_____
Find ALL ROOTS. Give exact values and show all work.
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Find ALL ROOTS. Give exact values and show all work.
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Find ALL ROOTS. Give exact values and show all work.
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# Real Roots:





# Relative Extrema:
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